oo
Juoogbootduod

Joog
oot odn



1

O000000OMD)OOO0O0O0O000O0O0O0O0ODO0OD0O0O000000Ooooooooo
googobogbooboobbodbooobooobooboboobbooboon
googobuodbooooboboobuobooboobboobooobooboon
gbogbobuodgbbooboobooboobbuoobbooboobboaboobn
gbogobogbbuoobobuboooobgbooobobbogbobooboon
gboogobogbgbbodgbooobuogbbobbboooboobbooboon
gobobooogoboboooooon

gobogobobbogbbooboobobbooobobooboboobboobobo
gbdbboobbboobboobuoobobuoobbooboobbuoobbooon
gbobbodbooodbbobobuoobbooboobbooboobobooboon
gbogboougoogbbodgboooboobboobboooboobbooboon
gobboooobbobuoooobbodao

gogbbobuogobuogbobooobobbobobooboboobbooboo
gbogbobuodbbbuoobboobuooboboobbodoboobobooboon
gbuodgboboboobuoobboobobuoboobboobuooboobobooboon
gbogbobuodboobobuoobbbuoobboobuoobbodgoobooboon
gboogobubodgbooobuogbobuodgbboobooubuoobbooboon
googobuodgbbgboobbobooobuoobbobooobuoobbooboon
gbogobogbbbboobooboobbuooboobobboobboboon
oooogbobobbobobobooboboboobobobooMDDOODO
gbgbbbbodboboobboboobbuoobbuoobbooooboooboon
ooobobobobouoooboobobbobobooobobobobuobo FObog
vooboo NOOboooooobobobobooboooobuoob roob voo o
gbogbdepbbooboobbooboobbuoobbbooboobbooboon
goo

gbobogobobbodgbbooobobboobboobbooboobbobooboo
gboodgbobobobodbogbboobuogbbobobooobooobuooboon
ooobobooooboobooMbObOoboobOoooboboboboobobobo
goboboooooboooobbboooon

gbuodgbobobobuodboobbodobuoobbooobuoobboobuooboo
gogoobobbbbbobbbobobbbtbotddddoooooooooooooooon
gbobogbboobuooboobobuogbooboboobuogbooobooboon
gboogobobbogoobuoobbuoobbobooboooboooooboon



goboodoboogbogboodgoogoodgoodooooodgogooaooodn
gobdobdooooogogboobdoooogod
gobodbobouobooboboduoboouobodouobodouobdoobooboobaooad
goboodobogbogboboobodgoodgoodoobodooodoooooboogn
gobodbobodoboodgboodgboodgboogguoodobdgoooooooodon
Oo0o0oooooooboo pgoovooooooboooooooooooooogo
oo0oooooooo sSoooooorooovooooboOoooooooooooo
oobooooO0oooooooooboooobooboooO FP=r-TSOODOODOODOOOOO
rogobooododoodoroog prPO00db0O0ODOODOOOOO0ODOOO000
obooboooooooooooooooobobobooo0ooooo0o0G=E~-TS+ PV
oood
gobodobogboobodgbodgboodgobogoodiobodgoodoooaoaodd
gobodobobodouoboobobodooboougboobooboobooouoaoooagn
Oo00S=crimWwOOOOOODOODOOOODOO0OO0 F=-kTrnzZ0000000000
Oooooooow(e,V,N)DOO00O0o000 p00000000000000Z(T,V,N)
0000000000 Z=) ,exp[—E/kT0000000O000OOOODOOOOOO
goboodobogboogobogbogoogoodgiooooodgoodgooogn
gobdboobogbdooobogbodboooogbogboooogoabooooogan
gobodooddgbogboobooogboogboodgbogodoodooooad
gobodbobodobodoodoodoooooooaoobodoodooaooaon
Ooo0o0000ooboobob00dF =—-SdI'-PdV+pdNOO0O000O0O0TO0VONDOO
ooooosSopOp0000000000 PO EF=F+TSO00000000000OO
goboobdodgod
goboboobdobogbodbodbooboobooboodgoodgooobad
Doboodobooobooooboobobdoodoodobodoodoooooooon
Doobdbogobodbdabodgoodbdabooobodoogoodboaooooaogn
000000000000000000000000000000 Cy =(0E/0T)y00
goboboboboooogbogobdgbooooogbogoboaobdood
(0EP)

v = N

(0ooo)

gboogugbbodbobooboobobuoobbooboboobobooooboon
gooobobobbobobobobbbbobobobooddddodoooooooooooo
goobobobooboboboboobobboboobobooboooboobobo



3

0000000000000 0000000D00000000 K=),p?/2m;0000
obooobodgb epooboobooboobobobobbobboboobo

k

Cv=1= (1—2/3N){K)(1/K)

(ooooo)

ooOOoNODODOODOoOoboooo

k
" 2/3N — ((0K)2)/(K)?

Cy

00000000 KOOOO éK=—¢000000DO0O0O®OODDOOODOODOOO
gboooogooobooaoooboo

ooO0oo0O00oo0o0ooon
NOOOOODOOOOODOOOO0OO0O000000000000000000000
000000000000000000p= (p1,ps,-,py) 000000000000
¢=(q,q - ,qy)0000000000000000TC=(p,q) 0000000000
000000000000000000000000000000T000000000
0000000000000 000000000000000000000000000
0000000000000000r00000000000000000000000
0000O000Tr00000 H(p,q)=FO000000000000000000000
0000000000 ADDODODOOOOOOOOOO0000000000 B(p,q)00
00000000000 000000000
1 to+T

A=B=— B(t)dt
7/ B0

obooboboooobouob0Tr —occoboboobobo t,ooobbob g
goooo

O0O0roooooo0d Hp,q) =E00000000000O0DOODODOOOOOOO
00000000000 H(pp,q) =F00000000000O0OOODODOOO

<B%j/3m®Mn®@®

/Bmwﬂm@m—EMMq
= J(H((p,q) — E)dpdg

0000000000000 0000MO00ooooo pp,q) 0000 TOOOOO
gboudgbobobobodgboboobobugboobboobuooboobobooboon




OO0é0DODOOOOO

p(p,q) = C6(H(p,q) = E)

oooo
000000000000000000000000000000000000 BO
0000 (B)000000000000000000000000000000000
000000000000 0000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 MO000000000000000000000000
0000000000000000000000000000000000000000
00000000000 00000000000000000000000 [
000000000000000000000000000000000000
O00000TO000d0¢0 ¢0 ¢+dg0p; 0 p;0 pi+dp; 0000000000
00000000000000 f(Ndroooo0oooon fr)ooo0ooo
0000 0000000000000

%§+&v@f@»:0
DDDDDDDDDDDDDDDDD&DDDDD%%MﬁDDDDDDDDDDDD

0000000000000 —divlf(I)ddt0000000000000000
div(If()) = V- (Pf()) = (V- 1) f(T) + - V(I

gooon

Vi) = (v D))

0000000000000 00000000000000V-I=00000000
EREREN

- opi | 04
V.F_Z(apz’—ka%)

i

_Z 0 _aH +8 8_H 0
B ; Opi 0g; 0q; \ Op; B

af _of _
=5 T VD) =0

gooo



gooo
DDDDDDDDDDD%DDDDDDDDDDDDDDDDDDDDDDDD%dF

oboobogoobobroooboboooboobobooooboboobuobboobo
gbbboodgobbboodobbboooob
DDDDDDDDZ—];:0DDDDDDDDDDDDDDDDDDDDDDDDDDD
0000000000000 0t=t0000000 0,0 f(Tyydr0O0D0OD0O0O000
O0¢t=¢, 00 ZOOOooooooooooooooo f(Ihy)drot=t, 00000

goooo

f(To) = f(I') @O0 fT()) = f((t)) )

googudbbodboooobuogobobbboobooobuoobbooboon
gbogbobodbobudobboobuoobboobobooboobobooboon
gbboobooggboobuooaooboo

e 0000ODOODOODODOODODO

0000000000000000000000 EDE+AEDODOODDOOOD
00000000A 000000

W(E) = / S(H(T) — E)dr
00000000000000000 S0

S(E,V,N) =klnw(E)

O000000o0oo0o0o0oooooo0ooooooooooooooo wW((E)OOoO
0000000000000 00000000000w(F) 000 QE)DODOOOODOO
0000000000000 00000000w(F)ODO0O00DO0DDODOOOO0ODOODODOO
ooboooobobooo socoboboooooooooboboboooboooooDooo
obobboboobooboobuoo pOO0b0O0O0ODbO0ODbO0DO

E
Q(E):/ w(E’)dE’:/G(E—H(F))dF
0000000000D000000000000000006(z)0 Heavyside 00000

1 z >0
0(z) =
0 z <0



6

O00000000000000000 ((x)=49(x)000000000O0O0O0O0O0OOO
goobooooon

S’ = kInQ(E)

goodgbbooboodgbooobuoobooobooboobooobooboon
O00000000w(F)D QE)D00D0D0DO0DODODODOO00O0O0O0O0O0O0ODODODODODOOO
00 NODOOOO1/NODOOODOOOOO N—-oo0OOOOOODODOOOOODODOOO
gbogogbboboobuoobobuoobboobooobuoobbooboboon
0 FO000000O0OO000SH(I)-E)ODO0O0O0OO0DODOOO

0000000000000 0000o0on
2
H N L
(P, q) E 2m,~+ (9)

gboodoooodoooooooooooooooooouooogoooodgao
gbddooouooodoon
P1 P2 PN
P = Ooo0ooooooooonx = -, —— 00
(p17p27 apN) <\/m—17\/m—2a ,\/m—N)
dP

iy

OooboOoboooboobgndX = gooo

QE) = /E dE’/a(H(F) — E')dr

:/EdE’/dQ/dpa <Z in + <I>(q)—E’)
::/Eﬂ?/dQ/ﬁXvT@EME:Xf+®@)—E3

000 z=|X|00000

Q(E) = / : dE' / dQ / dee*N "t AgnS(2? + ®(q) — E)

— /E dEl/dQ/dl‘LCBNlASN(S(x2_ E,E_';)(CE)(C]))

E
= [ ar' [ d@aag (B~ aa)?

3N

— [ Qs (B - aa)*




7

O0000000000000000 K@ =F—-%(¢0O3N/2000000000000
000000000000000 Asy D0 I 0 3NDOOOOO00000 Capa®™1 0
27T3N/2 0o

QE) = Ay [ [(B - (@)

w(E)OOOOODOOO

o) = BB 43 [ [ - w@pveaq
gogo
00000000000000000000000000O00000000D0 QFE)DO
0o0ddoooboooobooooooooooooboobo0ooon FOO0O VOOO
o000 NODODODOOOOOooOoOooooooooooooo s

A
MEJUW:ka@D:kmg% (E — B(q))*M?dg
|4

gboboboooon

1 P W
ds = TdE + ?dV — TdN

gbgobboobodgbuodgbobubobobbobboboobuooboobonobo
00000 1/TOO000000 SO0O0OO0O0O0 FO0OOOO0O0O0OOODODOOOOO

3N . _
L as k[ FE-e@ a8 - ey

oo [ oty aq > [ et
C3NE 1

D000(E—®(q)m 0000000000000000000000000¢0000
00000000 (K(9)w 000000000000000000000000000O
000 K(q)=E—®(¢) 0000 3N/2kT0000

(K(0))me = (E — ®(q))me = %w

goboboooobooboooon



gooboogobbooooobon

0
r_9S _ v /(E 2(0)*""dg

T_(?V_ /(E_(I)(q))BNﬂ

goooboogg

gobogobodbogobuodbboobuoobbobbuooboboobooboa
gobobodbooobuoobboboobbooboobboobooobooboon
gbogobogougbboboobboobboobboobooobooboboon
gboboboooobobboooobon

qg=V1"3s
000000000dg=V¥NdsOOOOOOOOOO0O0O0O0000ooooooon

/V(E — ®(q))*M?dg = /(E — O(V/35))BN2Y N s

1

gbobbooggbbboooobbon

=NV / (B —®(V'/3s))3N/2ds
1

3N 0P ¢
VN E—® V1/3 3N/2 1 ¢
* /1 5 (B—2f Z(‘?qZBV

ooooooooo quoon
N .
1 [ (B~ o) aq
v
1 3N 8(13
[, § . E—® 3N/2—1d

oogooogog
E_k_N k;N(Zig—jqﬁ_kN 1_<Zi§—i~q@->
2-3ET

D)

T V 2V(E-%(q) V
0000000000 POOOO

1

pP=_=
V




goo

1 p? 0P
pP-_— L =g
0000000000000 00000000000000000oO0O0o00o0 sooooon
oo00ooooooooooboooooooooooooooooooooooooon

gobobodo
1
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDa—S——DDDD

OE T
0O FO000000
s\ __1or 1 (0k
OE?),  T?0E  T*\9T ),

2
DDDDDDDDDCVDDDDDDDDDDDDDDDDDDDDD<%£> 000
14

0000

OF 1 (%5

CV — R = - [
or ), T \9E?),
aP 928

0000000000000 ETVVD<MW>DDDDDDDDD

S\ 0 [opP\ _1/[opP P (0T
(aEaV) ~OE (a_T> T (a_E)V_ T2 (a?)
_(oP 1 p
-(5), e ar

1 op
~r | (57), 7]

() - )
0E),  Cy \aT ),

gbobobooooon v

gboboooobobod

S\ v P
OFEOV ) TV — CyT?
ooooooo

gooooo 8_P U 82—5 gooooogoo
v ), \ov?),

(), (3,530, 7 )
ov2),. ov\T), T\av), T2\aV),



10

gbogugbbodbboobogbbuogogboooboobobooboboon
gobobogd

OP\ _(OP\ (P \(0P\ _ (0P | Py
ov), \ovV)g \TCy)\oTr), \oV /), TV
0000

gbbboooobbbooobbbuoooobbbouoobbn

(25) 2 5 [ - ety

A W (R

() JICE IR
/@—@@WWMq

2
3Nk 3N /(E - (I)(Q)>3N/2_ldq

2 2
[ - 0@
_3NR(BN NI\ L (3NN
2 2 K/ o (K)me 2 (K)2
ddooooddobodooooodoogd
2\ 3NKT /1 -1
o=k 1= (1-5y) "5 <?>J
2 1 -1
= [1 - (1 - 3—N) ) <?>mj

O0000000000000000NDOOOODODODOOOO0OO0 KOOOO 6KO (K) e
gbobboboobooboobooboobo Kooobooodad




11

ooooboboooboo cyoboboooooo

oot (-8) (4]

-]

mc

OO0000000 KOOOODOOoDbhOobOooooooobobooDo LebowitzOO OO
gbbboogobobboooobbob

1 oP
gooboboooobybbO0ooooobb Bg=—=-V|—=— | 0b0O00d
RS 8VS

000000000
NE (3N Ny (02 /92N ) L
w2 v \ov/ )E/

NKT 0%

Bg = +V<—>
Nk 2

V(H%__) v/ .

2
(3N /(22 o\ YL
2 v \ov/ ) K
O00000000ON —ocoOOOO0O0OOoooOn
Nk vV 0P
=— 4+ +——=(9 0K
& () %),

= IRy

gboboboooon

mc

09 Z%awﬂ oo
oV~ £<dq 9V 3V 4~dg "

Ooo000Ooooood
e _ o (00
ov?: — av \ov

8V’<3V’§:EMZ i)

1 8<I>

gooo



